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حجم العينة

مؤشر 
المتوسط

مؤشر النسبة



مؤشر النسبة

%1خطأ المعاينة 
%99مستوى الثقة 

%5خطأ المعاينة 

%95مستوى الثقة 

%10خطأ المعاينة 

%90مستوى الثقة 

خطأ المعاينة
e

قيمة 
Z

confidence 
level

z-score

90% 1.65

95% 1.96

99% 2.58

احتمال الظهور 

قيمة 
P

0.2احتمال الظهور

0.8احتمال عدم الظهور 

الاحتمال الامثل

0.5احتمال الظهور

0.5احتمال عدم الظهور 



𝒏𝟎 =
𝒛𝟐. 𝒑(𝟏 − 𝒑)

𝒆𝟐

Z= 1.96
P= 0.5
e=0.05

𝒏𝟎 =
(𝟏. 𝟗𝟔)𝟐. 𝟎. 𝟓(𝟏 − 𝟎. 𝟓)

𝟎. 𝟎𝟓𝟐

𝒏𝟎 = 𝟑𝟖𝟓

=(1.96^2*(0.5*(1-0.5)))/(0.05^2)

حجم العينة في مجتمع غير محدد



𝒏𝟎 =
𝒛𝟐. 𝒑(𝟏 − 𝒑)

𝒆𝟐
𝒏𝟎 = 𝟑𝟖𝟓

مفردةNالمجتمع محدداً بـ 

N=2000

𝒏 =
𝒏𝟎. 𝑵

𝒏𝟎 + (𝑵 − 𝟏)

𝒏 = 𝟑𝟐𝟐

حجم العينة في مجتمع محدد

𝒏 =
𝟑𝟖𝟓 ∗ 𝟐𝟎𝟎𝟎

𝟑𝟖𝟓 + (𝟐𝟎𝟎𝟎 − 𝟏)



مؤشر المتوسط

%1خطأ المعاينة 
%99مستوى الثقة 

%5خطأ المعاينة 

%95مستوى الثقة 

%10خطأ المعاينة 

%90مستوى الثقة 

خطأ المعاينة
e

قيمة 
Z

confidence 
level

z-score

90% 1.65

95% 1.96

99% 2.58

عتباين المجتم

𝜎2

دقة تقديرتباين المجتمع
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